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A MSAE2e 0
M FD+F2 MSAE 22
29 S8X AL N (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= AL 2ol 6,142,747 5,231,173 911,574
Xl 690,000
= 805,000
Al 4,647,747
FD+=F2 HSAE 22 6,024,212 5,144,398 879,814
Xl 690,000
< 805,000
Al 4,529,212
SEXQ MSAE XA 1,303,894 1,285,739 18,155
LH==CMsHH 23 X 285,060 270,000 15,060
203 YR =2t 1,000 0 1,000
03 Al =AY R =& 1,000 0 1,000
OM=AE 22 =& 1,000,000 1,000
307 gl2tol & 284,060 270,000 14,060
05 BIZHRIE 3 284,060 270,000 14,060
OUW==CXNSHdH FAE2ZHl 284,060,000& 284,060
HEAE AE829H XA 400,000 400,000 0
307 glz2+ol & 400,000 400,000 0
05 RIZtR &= 400,000 400,000 0
OMSANE(SE2sE MFE 22F ds3&
RERY 400,000,000& 400,000
H2XsAE 22| 611,904 605,759 6,145
101 @14 dl 153,318 107,261 46,057
04 JIZHHZ2XREES 153,318 107,261 46,057
OMSAE FA0H B
48,2803 = 8" » 268 * 103 100,423
OZE S Ottl 200,000& = 8% « 23] 3,200
OAMABE= 10,702
O=0d=z 23 100,423,000& = 4.5% 4,520
OI0HLEEE B3
100,423,000& * 3.035% 3,048
OWIYEEE L3
3,048,000& * 6.55% 200
OLNEEd RE= 100,423,000& * 1.5% 1,507
O EAEE S
100,423,000& * 1.42% 1,427
OZSZSHSAE FAN2HAAHE 2H00H 34,513
OoJles 48,2803 * 2H * 269 * 103 25,106
(ORLESEas)
6,030% * 2 * 2AI2t » 262 * 108 = 15 9,407
0%
OYE S Ottl 200,000 = 2Y « 23] 800
OAMIIBE= 3,680




A MSAE2e 0
M FD+F2 MSAE 22
29 S8X AL N (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=0dz 23 34,513,000& * 4.5% 1,554
OI0HLEEZE L3
34,513,000& * 3.035% 1,048
O¥IILEEz 23
1,048,000& * 6.55% 69
Ouns2eg €3 34,513,000& * 1.5% 518
Ot EaE2& = 34,513,000& * 1.42% 491
201 L2l 435,620 350,780 84,840
01 At 22l 17,940 11,780 6,160
OMSAIE SHAMXI SAH|
7,000& = 6% = 90 3,780
OMSAE U 28 E22 ME(3T)
3,000,000& 3,000
OMSAIE Hat 23 ot e HMA
1,000,000& * 3JH 2 3,000
ORQUBHIANAH =2 8,160
OHERTH Y LUBYAAH
180,000& » 12& 2,160
OHZOIRE RUBHIAAH
160,000& » 12& 1,920
OFFHMSZ RUZHAIAE
160,000& » 12& 1,920
OEZ2s sl SO AHAIAE
100,000& * 123 1,200
OHZE22Z RUFUIAAH
80,000& = 12& 960
02 8323l 417,680 339,000 78,680
OXNSAE &% 22 10,000,000& *» 54 50,000
OMSAE &8I 60,000,000 * 50 A 300,000
OMSAE ZAINARS
40,000,000& = 10H 4 40,000
OMESANE nExkLIE3
3,000,000 = 30H A 9,000
OMSAE FIHZHMAAE RXE=
229,000,000& * 8% 18,320
OFIZHAIAE CIHY R
30,0008 * 12& 360
202 oddl 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OMSAIE 2 &0
20,000& = 3F * 3 * 123 2,160
206 M= Hl 13,132 13,248 A 116
01 M= bl 13,132 13,248 A 116
OMSANE BAES 13,132
Ost&Ea ELEE 200,000& = 12& 2,400




A MSAE2e 0
M FD+F2 MSAE 22
S9l: SEHO HMSAL X (cho|: M 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oXdgJl EgHd S5 (100L)
1,770& = 1,3000H 2,301
OoMgI| EZFHMSS(50L) 8102 * 1,26004 1,021
OMgs+HE SHSE 300& = 700& 210
Ost&Eadz st&X
40,0003 = 1594 « 128 7,200
307 gl2tol & 7,674 123,810 A 116,136
01 2224l 450 450 0
OMSsSAYE 22435 *&  150,000& » 3MH A 450
05 RIZt2IE = 7,224 123,360 A 116,136
ONMSAE gAA=H|
20& = 30,100m =« 123] 7,224
Hszdies 249 6,930 9,980 A 3,050
206 M= Hl 6,930 6,930 0
01 M= 4l 6,930 6,930 0
OMSAE ZBIIES 6,930
O=s7ZUESR 88 770,000& = 98 6,930
ZoE gaE A8 MSAE e 3,973,068 3,002,720 970,348
Xl 690,000
= 805,000
Al 2,478,068
HESEAIAT ANEEFAEY 1,600,000 2,749,720 A 1,149,720
Xl 480,000
< 560,000
Al 560,000
401 Al HI K 201 I 1,600,000 2,749,720 A 1,149,720
Xl 480,000
< 560,000
Al 560,000
01 A& HI 1,569,760 2,701,880 A 1,132,120
OBEZBAAT AL22AY
1,522,080, 000& 1,522,080
X 456,624
= 532,728
Al 532,728
OFFTEAMNAHE ANEESAY AAEAH
47,680,000 47,680
X 14,304
< 16,688
Al 16,688
02 Zteltl 24,480 38,481 A 14,001
OHFSEAMAE 22l 24,480,000 24,480
Xl 7,344
< 8,568
Al 8,568
03 Al =2 THHI 5,760 9,359 A 3,599
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OFHFZEANHET AIE2UH] 5,760,000 5,760
Xl 1,728
= 2,016
Al 2,016
IS MEHSE2R ELZA 90,810 143,000 A52,190
401 AlEHIZL 2 0HY| 90,810 143,000 A52,190
01 Al& H| 90,000 143,000 A 53,000
OIS MENEZ2E Bx=Z2A 90,000,000 90,000
03 Al 201 Y| 810 0 810
ONHMHHSBY B4 TA
90,000,000& * 0.9% 810
HESESHIEUYW S2E AME WAL 613,740 0 613,740
401 Al HI L E0HHI 613,740 0 613,740
01 Al&H| 609,960 0 609, 960
OHFZHHIE Z2F BN
600,000,000& 600,000
OFFZHLIIT 3T 24T A 22|
600,000,000& = 1.66% 9,960
03 A& E2HH] 3,780 0 3,780
OHEZHZIE 27F B43M
600,000,000& * 0.63% 3,780
A= ZE =XE =4 968,518 0 968,518
201 et 1,548 0 1,548
01 AP 2t 2] H| 1,548 0 1,548
OSHETBY FANF ISR
860,000,000& = 9/10,000 * 23| 1,548
401 Al HI L £ 0HHI 966,970 0 966,970
01 Al& b 966,070 0 966,070
OBFETTH FAE 2AMYLI
860,000,000 860,000
OBEZRSE F=IE ZAHH] 100,000,000 100,000
OBHE=ERZE F=X& AAE A
100,000,000& * 6.07% 6,070
03 Al&E 201 Y| 900 0 900
EYETTY FHF =4
100,000,000& * 0.9% 900
SEALIXMEH HES AFY 700,000 0 700,000
Xl 210,000
o= 245,000
Al 245,000
401 Al EHI L 204 700,000 0 700,000
Xl 210,000
o= 245,000
Al 245,000
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SAl&2el
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 683,970 0 683,970
OESAZEME SFEAE HESAY
661,290,000 661,290
Xl 198,388
< 231,451
Al 231,451
OFTSAZIMEH LFANE HE=AY AAIE
Al 22,680,000 22,680
Xl 6,804
< 7,938
Al 7,938
02 2feldl 11,620 0 11,620
OFTSAZIMEH LFAE HEAY Zeltl
11,620,000 11,620
Xl 3,486
< 4,067
Al 4,067
03 A& S THHI 4,410 0 4,410
OSEAZIUMH L2 AE HESAY AMER
Chyl 4,410,000& 4,410
Xl 1,322
< 1,544
Al 1,544
LM E XRHCZ ot= MSAME Sz 747,250 855,939 A 108,689
& % SFFH 100,351 126,781 A 26,430
201 ¢4l 351 2,791 A2,440
02 =224l 351 2,791 N 2,440
OHM=J12 55 &Hl HZHl 351
O g= 1,513& = 10L = 102l 152
o&ds 1,325& = 10L * 153 199
401 A& HIZ 201 8] 100,000 123,990 A 23,990
01 A& HI 100,000 123,000 A 23,000
OMSAE ZZae & S3EH A
100,000, 000& 100,000
HsAE2e 296,447 242,610 53,837
201 Let24E] 118,519 2,250 116,269
01 At 22l 118,519 0 118,519
©2016E =AM HMFH =23
31,000& = 12Al12t = 3™ 1,116
OFFZHAIIT FUAHAL 248
99,503,000& 99,503
OFFOI7E F2LEH =8 17,900, 000& 17,900
401 AIEHI L 20 177,928 240,360 AB2,432
01 A& HI 177,928 239,460 261,532




A MSAE2e 0
M FD+F2 MSAE 22
CHel: OtM S X QRHCZ ole HESAIE K22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMESANE SANE(SEZINZE 14HL)
10,000,000& * 15JH £ 150,000
OLLEZELIR HLULAFZALARA 2|24
15,000, 000& 15,000
OE=LIZH AAHE &X 10,000, 000& 10,000
OUSSI+=2(FFSEMAY, 22823
&) 2,928,000& 2,928
HEAE ddl2el 350,452 406,548 A 56,096
201 LBt 52,422 39, 168 13,254
01 At 22l 45,862 38,536 7,326
O0sd)l RAE+ & I3 8,880
ORXNEx =2 175,000& = 404 ~ 128 8,400
O&HIIEMN ==& 120,000  4CH « 13 480
odsolad HIIZ A 369,000 » 1CH * 13 369
OZAIJtA FIIEA 193,000& = 1CH = 13 193
OB HIZAN =25 127,0002 * 404 508
OY= 8 EZAN(=EE) =28
84,0003 304 252
OFF=Eal2 MIILH ZIIEM =2
900,000& = 13l 900
OMSANE(SEHEINEA2M L) HIILH ord
A =2 5,800,000& = 13l 5,800
OFIIUMEH HAe+=+2 5,460
OFFrEa& 275,000& = 123 3,300
OF=E+1% 180,000& * 12& 2,160
oAt A== 13,200
OZZINE2 5MHA 1,100,000& * 128 13,200
OZ33J& Ag2elt U=
130,000& = 3H « 13| 390
O, JtAa, USOHM W=
200,000& = 1 = 13 200
O&Z0| Zelk u=s 20,000& * 1Y » 13 20
(OFSIPIReIFSEC Fo1 DN ESTE= 90,000& * 14 90
(OFSR=T ENEPSEN 13,2002 *» 500& 6,600
OHEARMEZ S 3,000,000& * 14 3,000
02 =224l 6,560 632 5,928
OxgorM el X &3l
55,000& = 3H « 13l 165
O&IIerM 2te| Xt &3l
100,000& = 1H « 13l 100
OHIAZHAI HAZ2HI(ER) 1,325& * 200L 265
OJtAAIDHHA MU H 30
OH&3ttHel 1904 30,000& * 13 30
ONEZHIRNL(SEZINE2 141 4)
400,000 * 1502 6,000

_6_




A MSAE2e 0
M FD+F2 MSAE 22
CHel: OtM S X QRHCZ ole HESAIE K22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 25,030 27,030 A 2,000
01 =8l 25,030 27,030 A 2,000
CHEFHSH 2 HSI| 43 1,930
O&2tH 88,000& * 10 880
OAsHH 15,0002 * 151 225
Od2g A=A 55,000& = 15L 825
OANEE AMXH 6,700
OABAMERM 15,000& * 2004 3,000
OUBIl MELEES2 1085 50,0003 = 5004 2,500
OgeH 12,000& * 1004 1,200
oOYsSHE XM 12,400
ogsalols 4,000& = 1,000m 4,000
Osd&3Aol2 900& * 1,000m 900
O&&ZEHE IC 20,000& = 1004 2,000
(OFSETSTS= 28— 1,000,000& = 40 4,000
OdZEHE MRsR 500,000& = 30K 1,500
(OFSIPIEAS-\ DN IR 4,000,000& = 14 4,000
1 AIEHI 22 Y] 273,000 340,350 A 67,350
1T AIZHI 273,000 340,350 A67,350
OBEMSE 2L B L 2HALFY
2,000,000 = 4CH 8,000
OBENSE YSI| M2 2 WA Fy
10,000,000 = 1CH 10,000
OIS NES B4U(BSEIIZS 1444
) 1,200,000 = 1500 & 18,000
OHMSALHZE RNV2A(HFOITH 24
) 6,000,000& = 5& 30,000
OBEZHLIIT AT HABA
30,000,000& 30,000
ML RALH(MSALSTA)
1,500,000 = 1500 & 22,500
O2BAEOIHBINRNLS S (BSHIIZ 14
N A) 1,300,000 = 1500 & 19,500
OXIILHl EX(SEZINEL 140H2)
3,000,000 * 1500 A& 45,000
oOYsSHLH B 30,000
OYEssSEEH E 800,000 * 15044 12,000
OCCTVEHl 2= 800,000& 1501 4 12,000
FESAEH E= 400,000 * 15JH A 6,000
OU==2XMSHE EF+ISA 40,000
O2=9% ZXJ ¥ JIAEH =3 A
40,000,000& 40,000
OMNEEHAL ZAFINE ZHER &X
20,000,000& 20,000




2N

M= A4 2tel

H: HH2AAH(MSAIE22/1)
e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
HY2IZH (MSAL2e ) 118,535 86,775 31,760
23l 118,535 86,775 31,760
=3l 118,535 86,775 31,760
101 1244l 45,230 46,767 A 1,537
03 RINAA=22RE > 45,230 46,767 A 1,637
ORJIANA2Z A 2= 40,903
== 23,076
-144 Xt 23,075,730& » 1& 23,076
Oo=¢ 8,711
-tE=d 960
B < Xt 40,0003 = 18 = 128 480
EHl = 20,000& = 2& « 128 480
gaRsy
8,800& = 10AI2t » 1&H = 128 1,056
-fuaesy
8,800 = 10AI2+ » 54 « 1&H » 123 5,280
PN 70,750% x 198 * 202 1,415
OGEF It 2,308
-144 Xt 1,153,790& * 23| 2,308
O=gtl 130,0008 18 « 123 1,560
Ou SH| 130,000& » 1& = 12& 1,560
o=25+¢ 2,308
—-144 Xt 192,300& » 1& = 128 2,308
OJtA X2l 115,0008 = 18 « 123 1,380
o4t AMIEEE JI2RES 4,327
O=2d=s B3 40,267,000 = 4.5% 1,813
ONEEEs RE= 40,267,000& * 1.5% 605
OAZEEE BE= 40,267,000  3.035% 1,223
O®IQYBER £
1,223,000& * 6.55% 81
OMMEEE FE= 40,267,000& * 1.5% 605
201 2Bt | 55,185 19,468 35,717
01 At 2+2/H 49,364 17,788 31,576
OJl2de=d8s4(J1&Z4l) 10,500,000& 10,500
Qu=R== 984
OXgX 13,0003 = 4JH AL = 128 624
osgX 15,000% * 290 At = 12 360
O3l 7,000
OJl1=3dHl 7,000,000& 7,000
OFRAZE 22= 120,000& * 6F = 23 1,440
ogad 37 ME 50,000% » 4% * 23] 400
Og==t| 29,040




M MESAL22 L
M HY2IAZH (MSAL22 D)

¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=x=4 60,0003 * 198 » 366 21,960
Og&+g 60,000& = 1H = 118 7,080
02 =224l 5,821 1,680 4,141
OACIETV =t = 20,000& = 12& 240
ONMSAE I ME=
48,000& * 5CH = 128 2,880
oORER= 2,701
Ogtts# 270& = 5,000 1,350
osJis# 1,930& * 700 1,351
202 04l 15,120 14,040 1,080
01 201 b 15,120 14,040 1,080
OJIEZ 15,120,000& 15,120
203 R =&t 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
©J|F % (152! 0ldt) 250,000& = 12& 3,000




